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Wi 21 said; by a Zohr who ate his own 72190 and ripped silk, etc.

OVERVIEW

"WX 27 explained that there is 2"2%7 by 7270 in a case where a 97 ate 7770 (for
which there is a an°» 21n), while at the same time he was ripping someone’s
clothes (which is a 1n 21°m). He is exempt from paying for the clothes since he is
nn°n 290 for eating the 7170, MdOIN discusses the novelty in s"WX 27 solution.

- M09 1Y PIYUM AtY AMNT SYN 395 1Y NIADT 'DI0NDN Y
>'""w9 explained that X''% maintains that when there is a n%» 21’17 for one party

and a payment due to another party, he is exempt from paying even though the 2vn
7N was to a different party than the 7171 27n -
- 591111 *93959 N3 HY XA 2999 (0w 8 91 PITNIVT KNP D92 TINT NAVTN )99

And X"7 argues with X29 who ruled in the first P99 of 1°97710 noon; witnesses
who testified; ‘that person had relations with the daughter of another person’,

and the witnesses were impeached, the rule is that the witnesses that were impeached -
= MY MY NI 1919 1PNOUN P90
Are Kkilled and they pay; money to one party, and their life to the other party.

This concludes the statement of 29, which n1poIn clarifies -
- 711’7)’ NAY MMINY 119 MY *Anans nY oany 1w nay ™I WIN9

The explanation is that the 7217 27V pay money to the daughter, since the o7V

P (R,89) 3991 772 2" writes: 0D ATY PRRWM A9 707 wR 270 91201, M09 H RONK PIIT RN DIWH RS 70MT 3R,
See ‘Thinking it over’ # 1.
* The 7in" 27n is - so to speak — to Hashem, while the 1mn 21 is to the owner of the clothes. *wX "1 maintains that
even under these circumstances (where he is not killed on account of the person to whom he owes money, but for
something else, nevertheless) n"2%p applies. [*"w", however, does not mention the concept of 12 WM 712 7nM
regarding 7270 25Rw 7 (in the case of 2117 2nn), because there the 1% 211 to the 373 can only be caused by eating
his 7m17n, which in turn causes the 70 21°1 S0 it is TAR? PRWM 707 (R"Y7).]
3 "y does not say this, rather moon infers this from >"wn. Since *"wA states that X"1 maintains 717 PY2wm 712 700
7109, this indicates that he disagrees with X217 who maintains 21 712 P2wm 712 A,
* The woman was a 707IR®7 73,
> The process of 7nr7 is that another set of witnesses testified that the original set could not have seen this act of nr,
for at that exact time they were with us (an™i1111Y) in another place. The rule is that the last n17v are believed and we
punish the initial group by visiting upon them that which they attempted to do to the alleged ones.
6 See »"wn there Pnbwm "7 that the payment is to the father of the 7omn 771 for the potential loss of the 72103,
which would go to him, since she is still a 728 mwo2 771, This explains why it is not 7IR? Pm>wm M1 (since
seemingly they wanted to be 21 her iin°n as well, so they are paying her 1»mn for the 72103, and 7n°n for their
testimony that she was 712), since the 7m>wn is to her father (see X"w1mn).
7 Their testimony would have instructed 7"*2 to stone this man (and the woman) for living with a 707X 7793
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7T wanted to cause her to lose her 712102, and they forfeit their lives to this
man who they claimed that he was with her.

In summation: According to >"w" this is a case of 712 177 (the owner of the DX W) 719 Mwan (to
n"apn for a 71 eating m1N), and nevertheless *WX 27 maintains that »"2%p is effective even in
such a case and he argues with X171 who maintains that by 712 mwsn a2 171 there is no n"2%p.

Mmoo disagrees with *"wo:®
- Y9 MY DY 1N PRIPY NP HNIIN NN 2PUN INT TN PN

And this is not no01n view; for if you consider eating 722190 and ripping 2°87°w

a case of MY NI Mo NN -
= (oW a,75 91 xnp x32) TN NN H2INNA INT NN NAYY 79D Hwpn )9 BN

If this is indeed so (that 2°»w% n°7 is considered 12 1M1 712 0°7), there will be a

difficulty on 839 from that which we learnt in a 73w in 7577 X 7%R7 P79 -
-van 1011‘1’)\’) 9391 9109 NAVA YN NN PIYTIY NIN)

‘And he who lit the stack of grain on naw is exempt from paying for the grain

since he is liable with his life’ (he is 7%°po 21 for nmaw 5%°n) -
= YY) DIVN NI PMDYM NAY DIYN NIY NN 1M

And this is (according to *"w") a case of 0% to one (2°»w?7) because of naw 75°m,

and payment to this person because he destroyed his heap of grain; why is there a
ruling of n"21%p (according to X27) since (according to *"w) it is 712 PMPWN A2 11 where K20

maintains we do not rule n"2%p -
= 1ANY 195U NN YN THY9 YY NON

Rather perforce we must conclude that the case with the grain is considered

RPN 1IN to one; even though the [non is 0w, nevertheless -
- DY NON DTN D2ava N5 2NN XD HININ

Since he is not liable for 71n°» because of another person, but rather he is 21»
2IMWY IN°1; that is not considered 715 PWN A2 AN but rather TAXY WM 07 -

¥ moown will maintain that 772 nwan Ar> wn is only if the mm 7An" are to two people, but not if they are to a person
and Dnwh.
o ('.'i mx) 0°1W° MODIN writes: 1171 T 11 22177 *177 110K 710RA ﬂ’b’? X271 720 "7 9K 1999K7 »axH X2 1°2 RIKR XM "NORT TN
12 nwon 9. According to ('on understanding of) *"w, even if X271 would derive n"2%p from ToX (which is 70
01w °71°2) he would still maintain by 72170 938w 77 (according to "wx 27) that he is 2n since it is PPwWM 717 707
712, See X"wan that there will be a difference if he ate the 171°an Hw 7m17n, for then it is considered 'R> 1@ 707,
since the 71n°» 2117 is on account of 172 YW 7170 and the 1M 210 is also 17°2n0 737 (see 7™ w 2" who asks on the
X"wann; why is there a question from w73, since there too it should be considered 'X? 11m nn; see w"wA). The
reason WX 27 states 172w 7170 23R is for novelty of »ax that even in this case of 712 17am 72 7N we say n'"22p.
' Our mwn reads w12 2»nnnw *1n. The case there is where someone burnt his friend’s grain on naw. The mwn
rules that he is 7o from paying for the grain on account of n"2%p. See ‘Thinking it over’ # 1.
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= TAND PMITUM NI NN PRIY NYIIP) H1DIIN NN 393 XN
So here too; (the °nw n°n 211 for) eating 7m0 and the 1»» 2vn for ripping

the 2°R"" is considered 7rRY 327920 707 and there is no dispute between *wX 27 and
N2A.

In summation; M50 maintains that if there is a 2»w? 1 210 (for eating 7170 or being 2onn
naw) and a 1M1 20 to an individual, it is considered XY PmPwm 01 and he is Mwd; only in a
case where there is a 7n°» 21°11 to one person (like the 0’111 2>7v who attempted to be 7 2mn
the alleged 912) and a Wn 21 to another person (the 28/n2), do we say 2°°1 712 1Y 712 AN,

mooin offers an alternate view:
= MY PMYYM ATY NN NI 2PYNT DIVIPN WIN AW»1Y NN PNNY 1292

And the "' wanted to validate s°"'w= explanation that here (by 2170 n%°OK

TRIW DY) it is considered 5739 PRRNY B 70 (and it differs from the case of W) -
- PNy nydap) 119N NYSAN DIV /A 1AV 39y
Because here there were to separate acts; eating of the 7m19n (the 7in°») and the
ripping of the J°X7°2 (the money) -
- DPTY 72 BN MY HY INA HY N2 Y9 1)
And similarly in the case of X237 where 07V testified that this person was with
that person’s married daughter; there are two separate testimonies -
- 5y NY2 NN Y NAN XY 1YY YN P PHVY
For the witnesses could have testified only on the man without mentioning the
daughter, or they could have testified on the daughter without mentioning the

man; they could have either said -
- 2017398 5193999 ADINDN NP YY Na INY

That man was with a 799I8%7 79w1, without mentioning her name, or that 77v1

1707K27 committed adultery without mentioning the man. They are two acts. Therefore in
these two cases it is indeed a situation of 712 MwsN 712 N7, since they were two separate acts (or

testimonies), and in such a case there is a dispute between X271 *wR 27 whether n"2%p applies -
= ANRD PMYYM NN XU T TN NWYN Yy N DN VI Yo DaN

However in the case of w73 p"»7%» everything came through one action (by

' According to the " that it depends whether it was one act (where it is considered X% Anm1 1) or if it was two
acts (where it is considered 1% a0 712 v [and WX 27 maintains that we still say »"2%p]), the case could have
been that he ate the 72170 of the RWi Yva and nevertheless it would still be considered 7312 7o 712 1172 (even
though the in°m1 177 is to one person [the 1% wi ¥1]), since it required two acts. *wX 27 chose not to use this case
because then he would (still) be liable to pay for the 1170 since 7°1p 7°23X7, so therefore W& 27 chose a case where
there is no 777 21’17 at all.

2 See “Thinking it over’ # 2.
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burning the w73 he was 10’ 2111 and 1), so therefore it is considered o
7RRY RPN,

In summation according to the > (in *"w79) if one act causes the 112m1 7n 2vn (like by w73) all
agree that n"2%p applies; however if the 17mm a0 2vn are caused by two acts (like by 770
PRI, or "N7D N2 HY X2 N9D), there is a dispute between X271 (who maintains there is no n"1%p)
and *WX 11 (who maintains there is n"29p)."

mMooIN presents an opposing view:
= (0w 2,0 9M 1PITNIVT NNP PH93 90 29 9INX RNT DNIAN 12 PWNY 139299 NI PN)

And the X'"2w9 does not agree to this distinction (between one act or two acts),

for neY 21 stated in the first P29 of 1997710 NoOK -
- BHyam sy 9199109 DY AND XYM DNITY D01y byan Pxoan

The husband brought witnesses that his wife committed adultery (while she
was an 71017X), and the father brought witnesses who impeached the witnesses

of the husband; the rule is -
- 11 1nwn PR 0597 Yyan sy

The w2 7°¥ are killed but they do not pay money
- PN PRYYM 193903 ANN 1Y TaNA »1¥Y DI BTy Hyan NYaM AN

The husband returned and brought other 27¥ who impeached the 2877 >7v; the

rule is that the a7 37¥ are Killed and required to pay; they pay -
- Borryh mwan 12 110Ny 1Y HyaY w199 1Y PN

Money to this one, meaning the husband since they wanted him to lose money
by requiring him to pay the 173102, and their life is forfeited because of what they

" See “Thinking it over’ # 3.
' This is the case of a ¥1 QW XXM (see ¥3-3°,23 [R¥n] 0°127), where the husband claims that she was not a 72102 by
the m¥n N3, since she was 71 while she was an 7017X. If he verifies his claim through 0>7v, the woman is killed
and loses her m21n2. If his claim is falsified (through 7277 07v) he pays 702 1Xn (to her father) and must remain
married to her.
' The ax71 7' said that the 9v271 >7°¥ could not have seen this Nt since they were with us elsewhere (an»:1 11a).
'® The testimony of the %¥a71 7y would have caused her to be killed and to lose her 7212. On account of ant MWK
the ¥277 *7v should be killed and required to pay her the 712103, nevertheless the 9v271 >y are killed, but they do not
pay her the 72105 since »"2%p.
17 These last set of o7y are referred to as 1PN AT,
18 There are three sets of 2*7v; 1 %v27 7y (who testify that she was 7111), 2 287 >79 (who are 01 the 27 >79), 3.
P (who are oon the 2R »7v). The van > could cause that the woman be killed (7n°n) and that she loses her
72135 (17mn). When the ax: 7y are 0t the 277 °7v they could cause that the v >79 should be killed (and that the
5277 >7Y pay 111 to the nwx for attempting to make her lose the 72105, which in actuality they will not pay because of
n"25%p) and that the %va should now pay the 703 78n (for 1"wxm) and her 72113, When the 11 nnan testify they
cause that the ar77 >7v be killed (for attempting to kill the 2¥277 >7v) and pay money to the 5¥2 (for attempting to make
him pay the 702 X1 and the 72112).
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wanted to do to the original 2v2:77 97y.
- 951 1Y Na HNX NN HY OND)

But there it was all caused through one 737177, so why is it considered 1% 1an and mws1
m1%. Why is this different than w73 2275, which is also one act and we do say 73":15?.19 Therefore
the R"aw rejects the idea that one act is considered 7nR? 7 Pn and two acts are 719 R
aro> mwon. >

mooIn offers another view:
= 290 N NIV NY PNNRNT N5 5N 01NMIT DY 23) NPT NaYT 265 1392499 AN

And it is the view of the n''= that X291 maintains 291 ;71% nwsa ;711% 7% only by
TR BITY -

- Z24nN 95 2955 NNtH DPPNNY 11¥2T DIYN
Because there is a requirement that the punishment for 712177 should be fulfilled

regarding each party who was affected by the testimony -
= N NXP 12 OPHNT )1’ NIV 2933 1ha mwan 199292 Y1)

However when there is a punishment of 132 and nws1 by one person, he is

exempt from payment since regarding this person, a partial ;12377 is fulfilled -
= 9109 NIY MV NIY 11MINT XY NI NNYYa YaN

However elsewhere (not by 17 0°7¥) X271 agrees that 7% mwsi 7t 1wn is
MMWD; and X217 will agree with "wX 17 here.

modIN proves that X217 maintains 1"2%p by 712 MW 712 PAn:
- 9109 1INT IV M3 Ta 19 PIND 1) XNT

"% See “Thinking it over’ # 3.
2 1t is not clear how the X"awA differentiates between the two cases of a1t Y and X2 o199 (where there is no
n"2%p), and the two cases of 7170 and w*7x (where we say n"2%9p). Perhaps he agrees to '01n7 nvw who distinguishes
between 0w nnn (by 7m11m W) where we say »"2%p, and 1na for a person (by X2 °1199 and a1 nni) where
there is no »"2%p.
21 The n"1 does not differentiate whether it is one act or two acts or whether it is IX> 7n°» or DWW 1n°n; in all cases
we say n'"2%p. The only exception is in certain instances of 7217 as MooIN clarifies.
2 The 07y who testified that *1195 N2 ¥ X2 *19 wanted to hurt two people; the man (by sentencing him to death)
and the woman (by making her lose her 72102 [see footnote # 6]). Each of these potential two victims is entitled that
the ant 7wX2 be fulfilled regarding the attempt on him. Therefor the 2>7v need to be killed for the attempt on the man
and also need to pay for the attempt on the woman. [See »p Ty p"2 17 NV W that the N1 derives this from the
P09 of [1nR? Mwy?] ont TwR3 12 on*wyy, that there must be punishment for each one.]
2 This would be in the case of a 1"w¥m (see footnote # 15) where the 2871 *7v were 0°» the %v277 >, and we rule that
the %va77 *7v are D2wWn D1°KY 0°37M (even though it is by ani [where we require that R 92 %595 a1 o»pnnw] and
the Hvan »7v wanted to cause her to be killed and lose her 721n2), nevertheless since it is all regarding the same
woman we say 1"17p since a partial anr "wk> was fulfilled regarding the woman. However by 121 X2 °11%5 (or nn
7nnn) the rule is PrRown PAM since the o°7v wanted to kill the 912 and make the woman lose money (and the 7y
2x7 wanted to kill the 2¥277 7y and make the Sv2 pay); the a7 07y wanted to hurt two separate people, therefore
the rule is 75wm PA.
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For in the case where the goat was close to it and the slave was tied to it,

regarding which the mawn teaches® that he is M5 from paying for the goat -
- B NTAY) THT 13 (0w 3,35 97 nap xa3) TAIN TS D93 19999

And we established this 71wn in ®3777 729 pa5 that it is discussing a case where

the goat belonged to one person and the slave belonged to another person;
proving that 1% %W 12 707 is MWD,

mooin offers an additional proof that X279 maintains 1"2%p by 712 Mwan 1% Pan:
- 05959 92WY N9 (x, 19 41 prmawy DY 990 12 D93 1Y TN 1991 NITT T

And additionally, it is 829 himself who maintains in 79y 9710 32 P99 that a

1719, who broke utensils while chasing his intended victim -
- 2991 Hab PMYYNY 47995 AN HAT 23 5 9N 7908 B 3 HY P 4193 YW pa

Whether the utensils belonged to the 1791 or to any other person, the 7717 is
"we from paying for the broken utensils since it is n"2%p. The n"2%p is effective
there even though the 57n%% is on account of the n791 and the payment is to the

owner of the utensils, who are two different people. It is a classic case of 71 7m A2 0™
and nevertheless we rule n"2%p.

moon however, rejects this last proof:
- (3,09 97 x0p x23) NN HTIND N9MNTH ©) N9 979 %2> 0NN 1M

However, there regarding a n719 the text reads 7729, not X2, as is evident in P79

N"N2 1A, therefore there is no proof from there as to the view of X2 -
- N39 90 (2 9m TPATNIOT NP 79929
For in the first p75 of 177710 Noon the XOA is Ra.

In summation; the n"9 maintains that in all cases we say n"2%p, regardless to whom the 7n°» 2vn
T were and regardless whether it was done in one act or different acts. The only exception is

** The actual 7awn is in 2,80 p"2, where it states that if someone sets fire to a pile of grain and the goat was near the
pile and the slave was tied to the pile, the arsonist is 7105 from paying for the goat.
 The xm3 there said that (according to w*p> w™) the mwn is discussing where the goat belonged to one person and
the slave belonged to another person and he lit the fire directly on the slave (for which there is a 7n  2vm); he is
exempt from paying even for the goat, which belonged to another person. This is a case of 717 11m 712 7N,
26 0711 — literally a chaser — refers to a person who is chasing after another person to kill him (or to commit an illicit
act of cohabitation). The rule is that anyone (including the 7771; the one being chased) may kill the 7717 if there is no
other way to prevent the 1717 from committing the crime. [See footnote # 40.]
" The A7 is an A (by anyone) because of his act of 719°71 see footnote # 26.
 The Xaa there cites this ruling of 727 (regarding 57) in connection with an episode in which 727 ruled
accordingly.
** This is referring to the first case nMooWN cited regarding n°1%9 N2 %y X2 "199, which indicates that X217 maintains
2517 717 1vam 12 anon (see footnote # 6).

6

TosfosInEnglish.com



WX 27 7"7 '010 2,87 Mo .7"02

by 1177, where we require that ont 9w should be fulfilled to each potential victim, so therefore
the rule by n1m is PRYWM Pam.

MooIN continues to espouse the view that 1% 1M 717 707 is Nwo:
= 9109 N1 PPITYM MY NN NNDY 19D THD YT O 13939 9N TV

And furthermore says the n'+ that perforce you must say that everyone

maintains ;11 122N Y 0 is WD -
- 9129 PONX 797> XY’ 19 KPS MVOT 129 Na9Ta 1YY DY NNT

For we derive the rule that %" a%p is 295, from the verse 1OR 17977 R, etc. -
=9 MTDINY HYAY PMDYM NYUNRD NN NN ONM

And there the 7102 is for killing the woman and the payment is to the husband
the ‘owner’ of the fetuses; proving the »"2% applies even when it is 719 7721 712 707,

mooIN rejects this proof:
= TYNRN 9102 10 MTDHINY 11°3 ONNT NINI NIINT PHNS 13529 9DINY

And the >"9 argues that it is not a valid proof, for there (by the aborted

pregnancy) since the fetuses are inside the woman’s body -
- 2l1ANY PRYYM NN YN

It is considered TnRY 7"wnY ;N (even though the actual payment is made to the
husband —

The >"1 proves that since it is TWR7 72 it is considered 'R? 1AM ann:
— ZAUNA POX PRYI 23991 593 (x,19 97 0w) DI IND 13 799341 ¥10

You should know that this case is to be considered as x> 7"m>wWnI 7n°72, because
in 970 32 Ao, the X3 wanted to hold the attacker liable when there was no %R
to the woman -

30 The 105 in 23,83 (2'vdWnH) MY reads; PRV DOW WK WIYS WY TIOKR 7770 RDY 0727 IRYN 77 WK DA DOWIR WD 0D
0°7°992 1NN 7w Yv2. We derive form this 109 (see the mawn on 2,19) that the aggressor (who inadvertently hit the
woman) must pay (to the husband) for aborting the children, provided there was no 170K for the woman (she was not
killed); however if there was an 1oXR (the woman was killed), the aggressor does not pay the M7 "7 since it is
n"2%p for killing the woman.
! The *"1 here is following generally the reason which was mentioned previously (see ‘In summation’ by footnote #
13) that if it is one act it is considered TnX? Pm>wn 7n°n and that is why it is n"2%p, so certainly here where the fetus
is part of the woman’s body, so regardless that the payment is made to the husband, the loss of the fetus can be
ascribed to the woman and it is 7nX? 1m0,
32 The X there is discussing the same case as in footnote # 30 where the attacker wanted to kill someone and
instead caused a woman’s baby to abort. In a case where the woman was not killed, the attacker must pay mT2 "n7.
The &7n3 there asks if the rule is that a 77 may be killed under all circumstances (even if the attack can be avoided
by wounding the 7717, nevertheless the 7717 may be killed), why should the 7711 pay the n1791 *»17, since he was under
a death sentence (for he is a 7711 to the other person).[See footnote # 40.]
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- 931 29050 PHnmaw MENaT IV 1¥NY 1137 23 HY 9N

Even though that the victim is permitted to be saved at the expense of the

attacker’s life (he is a 1717); we know that he is a 7717, for the 102 is discussing a

capital crime. The reason (the X»3 initially assumed that) he is 2»n (if OX 77 X7 by the
woman) is -

- HYaY PMYYM NNAY NSIY AY DI MNT BIVUN

Because the 7717 is 7109 217 to the person he wished to Kill, and the payment is

to the husband this proves that the X3 there maintains that 21 712 172m 719 A0 -
- %9509 PYOR YWY 91 199N)
And nevertheless if there is an oK (if the woman was killed), the 7717 is 9D
from paying m721 "7 to the husband because of n"21%p, but seemingly it is 712 an°n (to the
woman) and 7717 1% (to the father) why is there n"2%p -
= HYYWII9T NYUNRN 91N 1Y 295 TAND 1MITUM NN 2PYUNT DIYN 1M
So the reason must be because it is considered Tnx> Y wny 70 since the fetus

is in the woman’s body, as I explained previously.

In summation: There is a dispute between the *"1 and the n"9 what we derive from the P05 of &7
NoX 1 (by 797 AWK 10AN), the source of »"2%p. The n" maintains that it is a case of 1% AN
MY Pmowny; therefore we say »"2%p in all cases. The °"1 maintains that the »"2%p there is in a
case where it was in one body, and therefore the rule of n"2%p is limited to where the n 210
7M1 were done in one act (according to X27).

nooIn offers a novel view:
- 35:”1'\ MY PMYYUM MY NN 0PN Y5347 99N YUN Ja PN’ 129

And the X"2°7 says that 71% Pvwny 79 % is 2991 in all instances -
- ©997 595 1N 2N DTN Y9Y 558NY 199341 2R 919 99 mas 1am

And the cases of ‘a slave tied to it’ and the case of 717 are different, and we

33 See >"w there who writes: 9271 2107 AWK DX 79M 17°20 DR A0 1DNR RIY anmaw men2. The attacker was
planning on killing another person and accidently hit the woman. He is therefore a 777 who is n°n 27.
* Why is there a difference between the case where he did not kill the woman [and he has to pay even though he is
70 20 since he is a 971, and nevertheless he is 21 for we consider it 717 13m1 712 7n°»], and the case where he
killed the woman; the same rule should apply since it is still 772 7vm1 712 an°n. Therefore we must conclude that if he
killed the woman, the fetus is in the same body and therefore he is 719 for it is '&? 17m1 0. However if the woman
was not killed, it is a case of 712 30 719 1Mn; the act of 719°71 to the man for which he is 7n°» 211 and the act of
hitting the woman for which he is 711 27n.
3 This is the opposite of N N’ who maintains that 719 A0 719 n is always TwD; however the X2 maintains
that (according to X27) 7717 0o A2 107 is always 20m.
% See footnote # 25, where he set fire to grain and someone’s 72y was tied and there was a goat nearby; the arsonist
is exempt from paying for the goat since it is 2"2%p for the 72v.
37 See footnote # 27 that the A7 is 7w from paying for the 295 (of others) which he broke since n"29p.
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rule there that he is MWy, even though it is (seemingly) a2 1vm a2 7n°n, because
the 7717 can be Kkilled by anyone and he is 17n3% 2917 to the whole world not only
to the 72y and 7771 respectively; he is 02 2771 -

— TARD PRWAY 7R 200N 2o [299577 ey *P7apn byab nx|
[Even to the owner of the (72v) [goat] and the owner of the utensils (for they

may kill him since he is a 9717)], so therefore it is considered TrR» PP 707
and therefore he is 1wd. However if it would be a case of 712 171 1% n°», he would be 2711,

mooIn anticipates a difficulty with the idea that a 5717 is 22w 5% Ao 2»n:
- Y PRYM MY NN 9T YN (0w ntox 90 12 D93 FNIPIWNT 22 5y 9N

And even though that initially the X723 in 9910 32 P99 considered a n719 (who

accidently aborted fetuses) to be a case of 71 P2Y?RwNY M 7N (and that is why the
a7 is M7 "7 20 if there was no 7oK to the 7wR); this however contradicts the X"2 who
maintains that by a 77 it is always K> Pm2wn 707 since the 7717 is 22WA 937 707 20 —

mooIn replies:
- N920 NN 13 9N NIW RY NN 9INPT XIPONN %99

According to the conclusion however, when the X771 said ‘rather there is no

difference’, at that point the X723 retracted from that logic that a7 is considered

T2 1M1 T a0 -
= 1ANY 1PITUM NN MHNT DIVN NIY XY NIN 1WIT9 M)

And this is the explanation of the answer, ‘but rather there is no difference’; he
always is 109 since it is TARY PR M.

Moo responds to an anticipated difficulty:*!

*¥ The w"w" amends this to read; 131 9vab. It is to the 7371 5¥2 that there is a 1 20m.
* See footnote # 34.
4059w 12 1017 ' ruled there that if one can stop the 7711 by merely wounding him (and not killing him), and in fact
he killed the 71 the killer is 70 2>n. The X3 proved that this is so from the fact that one has to pay the n1721 "7
if the mother was not killed. If the rule is that one may kill the 7717 under all circumstances (even if he can be
restrained by wounding him), why does the 7711 need to pay for the m1773; he is 7 27nn, and »"2%p. Therefore we
need to say that the 17mn 211 is when he could be restrained by wounding him (and one is forbidden to kill the 7717),
therefore since there is no 1n°1 21, there is a 711 2. The X3 wanted to reject this proof (and one may always kill
the 7717), and the reason there is a 111 271 is because it is 717 7N (to the potential killer of the A717) and 772 17 (to
the nwxn 2v1) therefore there is no n"2% (see mwon previously footnote # 34). The &3 did not accept this
argument but insisted that by A7 it is always considered 'X? 1M N as 7127 ruled. Therefore one will be 171 20
for the M771 only if the 7711 can be restrained by wounding the 7717; so only then is there no n"2%p. This supports
the view of the X"2" that by every 7717 (who cannot be restrained except by killing him), it is considered 1 07
'R? and n"a%p is effective.
1 According to the X" that ar> 1m) 712 i is always 21 (except for §717), why does *wX 27 maintain here that
he is 7o and similarly why is he 25 by w>7a it is 712 1 712 oo,
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(W) 7591133 1195 INNY 1PMYUM NN’ 2SN KaNY]
[And here by PXW ¥721 7170 20X, it is considered TRy PRYPwny R, just like
W73 PO9TH on Naw].

SUMMARY
A chart summarizing some of the different cases and differing views.

TN DA 07 | 9 IR0 9T S"wRmns S"wRns P77 [ X2 ND | PaNw T

ay o W | MDD TAYY | TV WM | TV W ROTAT | DD B hirkmhl s/
"MW PN | P2 @D TwpW [ AN Byam | AR aNT | WD nawa mWHm M
TOR  PR) | TR B " ang oY | Byam Ty AT anvR

(a»n U PANTY | PRY AT bRy pla bl = IR —
bR bR (X279) | 27%) =2

(owx /meswsn

? ? Bolswy amn [ tom amm [ owmanwp | v ann [ ac o | s v

e Hyan 7w WY | Y A | T2 e naan

Sy o H) | 9o avn pliels! msen

UTAT DY [ CWR 27 Y | v oo, anon

Sy T BT | 2707 X2 faYa\vrdes

X1 WA awm

(7 5"an

IR VYR TwYn | TR wyn 22| RAwYn | TR qwva | Dwyn 2| Dowvn 2| nwswd o'

amib S Ly nwp v | 20 nponn | 20 nponn | a0 oMwm

Al il iaka) Sy R"awAn n"aop R27 WK R27 WK owyn

?7? nows "7 awm

"9 5"n1on

n"ahp n"ahp n"a%p | amn pva n"a%p n"2%p | antn rva n"a%p n'"s

R"oH a”»pna X"oH 5"mon

Pyfai ! M RN

nxpna anrn 72°

om0 | apn Y1 | o avn 2070 | T anon anon 21 70 nn R'"2%

X"IXDH X"IXDH R"MRID v s jalalried 5"n1on

N awm TR awnl | 2”0 7PN

RS Anm mRL A | aMn 12

THINKING IT OVER
1. nooIn asks on "w19 (who considered the case of 121 ¥yap1 121 9oXRW 77 a case of
A P T an [since the ann is omw]),* from the case of w731 DR PO

2 In these two cases it is Dnw n™; therefore it is considered x> 1vm1 in. See ‘In summation’ on page 3 of this
moeon.
* The simplest explanation may be that >"w1 agrees with the X"2™.
* See footnote # 1.
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where it is 717 Pawm (onwh) 1% anon and nevertheless he is MWD; proving that
v ann and DTRS Pn s considered RS P onn.* However *"w0 never
mentioned 2°nWY 1N, rather "'wA stated: 79 RN 21217 R own XD 0T YR
TV T2 PMPWM AT A0°H WK 277 2201 ,719°), meaning that if the 1n 21°0 was not
caused by the 17n°» 2117 (as in the case of ¥721 121 77 [where the 171 21°1 1s because
of ¥ and the 1n°» 211 is because the 9oX]) there is no n"2%p. Therefore there is
no question from w*7x7 PR 2747, since there the 1n 2vn stems from the very
same act which causes the 70 21°1?!

2. The >"17 maintains in *"w75 that if the 70 » 21°m 771 210 are caused by two acts,
like "1199 n2 ¥ X2 195 (the 7Y are 70 2°nn to him and an to her) the rule is
TRownY A3, since they could have testified separately either X2 °11%9 or °17%9 N2
7ov21.* However if they would testify 79v21 1195 na it would be a n*» 27 (since
she 1s a 70MNMT 77v1) and a Pan 211 (loss of 72102) with one 7wWy»H; how can Moo

write that it is two acts?!*’

3. The >"1 maintains (in >"w79) that if the 171 21°mM 70 21°17 are caused by one act
(like w3 P°970) we say n"29p.*® The x"awA rejects this, for by the P " the
1M1 0o 211 are caused by one act and nevertheless rule is P2wWm 12071 and there
is no n"19p.* Seemingly the cases are different. By w73 p>71 the fin*n 211 is for
burning the w73 of the w77 Hva for whom there is a 1m»n 211 therefore there is
n"19p.”° However by 11111 amT the 70 21°1 is to the 2°7Y and the 11 2 1s to the
%ya! How can the X"2w1 compare the cases?!

4 See footnote # 10.
* See footnote # 12
7 See X"y7 and > nIX 7"210.
8 See footnote # 13.
* See footnote # 19.
%0 The *"1 (presumably) merely meant to say that even when the An» a1 is 0»w® (like in all three cases of 71N
451 X2 *1199 and w>T3), nevertheless we can distinguish between one act (w>73) and two acts (131 X2 *11991 7517n), and
not like NN who compared all 2°»w> 0% 210 (that it is considered 'R2 1wam 7nM); however the "3 (perhaps)
never meant to say that there is no difference to whom the 71n°» 2117 is!
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